“—"IHADAEMNRI . RIEDFHRTY

RATEEEE TS 5 — R EIBAR  SsF108% S IRPRIENASS, i
1. HBEDIEEREAR
E1TH18R FE2TH18R E2TiE281F
E i E 10/1~29., 31 10/1~31 TEHAsiRT
2. REYIONIRINR
F1TH1ISE  H2TH1SHF H2TH28F & 3
—REEY (t) 3,755.1 4,347.1 — 8,102.2
3. &ElcreWELEEVWCADBREZITD12H (SEHBRRE : HERRISIEER (ChERS)
E1THE18R E2TH18R E2TiH281F
m E R A 2R - - -
EUCAK - - 10/2,10/3,10/7,10/8
L - - 10/16,10/17,10/18,10/21,10/22
4. MEsRDBIR (LR DT —4 (EFRIEE)
F1THISE  H2TH1SFE H2TH28F T EIREE
o H ZRE (C) 822 878 —~ 800°CLE
ECAKEHBE (C) 144 149 - #a200°CU T
Ao CcomE 2 (ppm) 8 7 - 100ppmIA T
5. HEH AP DIFVVEERITFEFER CRIZESAE : 208 (C1EE)
F1THISFE  H2TH1SFE H2TH28F PE R
A E AL B FEZERIED EZSAIE O —
Al E H 10/9 10/10 —
MEBBRMNAEBSNIZHE 11/1 11/8 —
Fnoa (g/Nm?) <0.001 <0.001 — 0.08
ALY (Nm*/h) 0.0040 0.18 - o
ERBY (ppm) 37 27 —~ 250
i kEkE (mg/Nm?) 2 18 - 700
6. BEO AP DS A A+ ARATERER CRIZESARE : 14E(C 1)
E1THISFE  H2TH1SHFE H2TH28F PE B
H E I B — — _
Al E H — — _
AMERBREISASSNTZHE - - -
A4 AF>> 458 (ng-TEQ / m3N) - - - 1

x1

HEMEDRIELRR (CHIFTDIETT.

X2

P ARDESEN 1 2%DIRE(TIRE UTZET Y,




RATIRIBEE T > 5 —SHHFEIRIANR (— M EEYRZUD 1) SH6EL1085
1. RELDFIHZICDNT
el FEEY)OIERE | B2 (md) 187 R 1BY7#RTH
b |o=L:ll SR ELY) 11,884 BBFN55448 18 | BBFN5843H28H
b | iz :ll SR ENLY) 39,938 BRF158E3827H | ERk114£7830H
2. HEERDtRiER
AR SRS
PREEE z2t VN BRE
=y = SH6E10828A | £ 64108288 | £M64E10828H | £H6410828H
RIRTSE B1R B8 B1R 815
ISR (BEEDEHE) iiid iicd it
. L BHAFF
WHEIEEZHED
fEHEARS
AE i iit iit

3. KERERER

BIESEE : A TK : 1 A 10 (£IEEGSF 1[@)

R HEFE  3H 1[0 (RIEB(EE 2(E)
FOKERR JELM T 7K
DRIEB 3ISHF 45HF
BEJURER mS/m 23.9 21.9
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